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2 Jogooo

§1 00O

(11) OO0 0U0Oeqb000mO000e—b0mIO0O0O0000OOO
bOmUOO0DO0O0O0OO00O00UD0O0O0OOa=b (modm) 0000

(12) 0DOOO0O ODOOOOOOODOOOOO

a=a (modm) (0O0O)
(E2) a=b (mod m) 000 b=a (modm) (0ODO)
a=b (modm)0d0 b=c (modm) D00 a=c (modm) (0O0O)

(13) 00 00 abe,d000 mOOO0O0Oa = b (modm), ¢ = d
(modm) 000000000 DOOO

(1) a4+ c=b+d (mod m)
(2) a—c=b—d (mod m)
(3) ac=bd (mod m)

(14) O 9412=4+2=6=1 (mod 5).

(15) OO0 0OOODODOOOO0

(1) 221 x 329 (mod 11) 0O D OOOO
(2) 22*2 (mod 5) 00 DODODOO0O

(3) 230 7000000OODODOO
(4) 2*4+2*= (mod 3) 0000 z (z=0,1,2) 00000000
()

5) 23 +22= (mod 6) 0000 z (x=0,1,...,5) 00000000

(16) O (prODDO0OOO0O0ODO0)

() DoDO00D0o000o00O0O0D 3000000000 0000 30000
oo

(2) 000000 OOO0OOUOOOY9YO0O0O0OOUOODOOOOO9UOOO
oono

(3 0000000000000 (DOO0DDO0O0O0O0OO0)0 1100000
ooooboob 1nooobooo

(L7) 00 O0OOO0O0O0O00

() n0000000000032 44210 13000000000000
(2) n00000D0000003%H 44710 7000000000000

(18) ODOOOOUDOOOOO 0OO0OO0@bO0D0000e«O0bOODOOOOO
r00000(e,b)=(rb) 000000000000 OOOOOOOOODO
boooboooobobooooobooooboboooboaon

(19) 0O0O0OOO0OO0 OOebOOOOOOOOO
ar+by=1

ubooobd z,y0OOoOoOQanoO

(1.10) OO0 OUOOOOOOOOUOO10O00O0O0
(1) 96z 429y = 1
(2) 962 —29y =1
(3) 35x 4+ 13y =1
(4) 352 + 13y =2
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(111) OO0 OUOOOOOODOOUO=zO100O0O0O

(1) 96z =1 (mod 29)
(2) 13z =1 (mod 35)
(3) 352z =2 (mod 13)

(112) 00 (000O0O0O0O0O00) (0000000)mO0000mO0
0000000000000Z0000000000000000000 O
oo

a={r€Z|r=a (modm)}
goooo
{0,1,...,m —1}

0000000 Z/(m)0000[@3)000Z/(m)0000000000

a+b=a-+b, a—b=a—b,
(113) 00 (zOOOOOODDODOOOOOOODDOOO)
000000Z/(m)00000e000000000000000000
(e;m)=1000000000

a,m

(114) 00 (DDD0O0O0000) Z/(13)000005,7,900000
000
(1.15) 00 (00D00000) 0D000.-00000100.,00000

O00.0000000000000¢(n) 000000 oOO0OO0OOOO
oooono

(1.16) OO0 (0DDOOOOOOD)

(1) 00 pO0O0O00¢(p) =p— 1.
(2) 00 pO0000 nO0000¢R") =p" —p L.
(3) 00000000 m,n00000¢(mn) = ¢(m)p(n).

Proof. (1) D0DOO

(2)p"0000000 pO0O0OUOODOOOO0OUODOI0O0OP*0OODO
pO000D p*/p0000O00O00O0DO0

(3) km+In=100000(k,n) = (m,]) = 100000000 Obkm+aln
0<a<m,0<b<n)0mn0000000000000O000 mnOOO
goboooboobbooooobooobmm—-100000000000
U0mnO0000000000O0OC0OO0DOCOOO0O0meO00000O000O0
00000000o00oooo0ogbkm+aln00000000O(a,m) >1
000 (byn)>10000 (bkm+aln,mn) >10000000 (a,m) =10
O (b,n) =10000 (bkm +aln,m) =100 (bkm +aln,n) =10000
(bkm +aln,mn) = 100000000mr 00000000 (a,b) 00000

o(m)p(n) 00000 O
(117) 0O0O0DO0O0OO0OO0 0DO0OO0OO0O0O0UO0OO0OO0 00000000000
oood

a®™ =1 (mod n).
(1.18) DO (00) DOODOO0OOD anp0000000

a®=1 (mod n).

0000000000000 0 e0000000O0OO ¢(n)000DOOOO

(119) ODO0OO0OUDOO0OOO0 OO0 pO0O0 00000 =a (mod p).
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(120) OO0 OOOUOOOOOOOUOOOOOOOOOOOOOOOO
oogd
1) 522 (mod 19)

(1) 5
(2) 197 (mod 17)
(3) 222 (mod 17)
(4) 5
(5) 7

16 (mod 48)
5) 718 (mod 60)
(121) 0ODOODOOOOO0 OO0p00000(p—1)!=-1 (mod p).
(122) OOOODOOOOOO 10000000 mO0000(m—-1)!=-1

(modm)0000mO000000

§2 00000

(21) 00 (10000) 00090000000 ap,an1,...,a1,a0 O

b1,by,bs,... 00000000O0Oa, 00000000 DOODODOODO100O
00
ApQp—1-"-Q1a0 - bibabs - -+

oooo
1070y + -+ 10%a; + 1000 + - + 22 4 ..

" ! O 100 T 102

by bo b

— : n 1 0 m

_”}E}noo(loan+'~'+10a1+10a0+1701+1702+ 10m)
ogoooa

00000000 (000000000000 »mOoOO0OO00 1000000
O00oooooooooon)

0l100boobooboo1l1oooooocooooooboliooooboooon
lg00ooboooooooboooooooboooolooooooooooln
ooo999---000020000000000000OO0LOOODOOODLOO

(22) 00 (0DDOO0OOO0OO0ODO0O0O0) 0000 (00O0000)

C=ci+ca+-+ecp+--=lm(c1+co+--+ep)
n— oo

gogoobbbuooooobobbboooooooon
eal + leal + - leal +-

oboooboboooboboboboobOoboooobooog

2000000000000
C=c+eco+--, D=d;+dy+---

oooooo ¢c+DpO0 0 C-DO0O0O0OOOOOOOOOOOOBOOO
obooobOobooobooboooonod

9.999999. ..
=) 0.999999...

booobooooboboooobooooon

(23) OO0 OOOOOOUOOOOOOOOO

(1) 0.123 = 0.1232323 - -
(2) 1.2345 = 1.2345345 - -

booobobooobOobooooboboooooboooobOoooon
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(24) 0D (DODODOUODOUDOUOOOOOOO) COOODOODOOO myn
0000o0o000oo m/nO00000

(1) n=2%" (¢,b00000)000000m/n 000000000

(2) 0000DDO0OO0OO0Om/n 000000000

Proof. (1) 000 10™=@® noooo0o0ooooon.
(2)00000,00010°000000000. 0000 m/n0000 2050

000000000,00000000000000 10°0000000000, m/n

oooooooo.
00,00000000000000000000,00000 1,2,...,n—10

n—1000000.00000 (0000000000000000),00 n—10

oooooooOoooO,000o0oUo0UoOoUoOoUoO. 0oo,m/pO0000
gooo. O

(25) OO0 (OODOOOUD) UDOOODOOOODODOOOUOOOOOOO
oobO0o0ooOoo0oooooooob2000000000000000 2¢0
oooooooo

(26) OO (OO0O) ODODODOOOOODOOOOOUOOOOOOOOOOOO
gboooboooobooboooobooooon

(27) 00O (D0ODO0O0O0) 10000000000 -0000010°=1
(mod n) 00000000000 000 (00000 [LI7J0000 [TI8))O
00000000000 m/n (000 mne00000001<m<n—1)
O0000000 e000000000000O0000O0 10000000
0 000000001/21=0.047619 0 7/21=03000000000
Ooo00oo0Oooooon

Proof. 10°=1 (mod n) 000 10° =na+10000 («000)00000

m __ma __ ma
n  na 10c—1
ma - 107¢
:1710_6 +— (D0oooooooooon)

=ma-10"° +ma-107% 4+ ma - 1073 + ...
ma  ma  ma
~10e 10 o
O000Om<nUO0OOMmMa<na=10—-1000 ma00O0OeO0OOOOO
O00000UOm/n0e0000000000O0OOOOOOOOOOOOOO
goooo1o0bobooooooobooo
O000Omae=1231230000 me U0 O0ODOO0ODOODOOODOODOO
el000O0O0OO0OO0OODOOOOOOOOOOOOODOOO
000000000 ¢ (¢ <e)000000000m/n=m'-10"¢+m’-
1072 +m/-10°% +..- DO000000m/n=m//(1-10°) 000 0m
0On,00000000000 «00000ma=mOna=1-10° 0000
106/El(modn)|:||:|[][||:|[][| eJO000O0D0O0OD0OOOOOODODOOOO

etddon O

4+

(28) 0O (DODDOOODOOOOUOOOOO) 1DOODOOOOUDOOOROO
1<m<n-10000m000000m/r0000000000000
0000000000000 ¢(n)D0O0OOOOO

(29) 0O (D0ODOOOO0) UDOOUDOOOOODOOOOODOOODOOOOO
uboooboooobobooood

() 00 1/7000001/7=0.14285700000000000 60000
00000000 ¢(7)=60000

(2) 00 11/21 0000011/21=0.523800 0 0000000000 600
0000000000000 ¢(21)=120000

(3) 00 10/130000010/13=0.769230 00000000000 600
0000000000000 ¢(13)=120000
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(210) OO (DOOUOOOOUOOO) ODOUOOOUOOOOCOUOOOO,
oo0b o0.123123--- O000,0000000 100000000000. 0
0,000 099123123--- 0000, 0000000 10000000000
uooobooobooobogoboo.

(211) OO (DODOOOUOOOUOOOUOOOUOOOOOOO) OO
000000 mn(m<n) 00000000 m/n00000000000
ooo

(1) n=25'000000 m/n00000000000000c¢=max{a,b}
00000m/n 0000 000000

(2) n000D000020500000000m/,O00000000000
000010°=1 (modn) 00000000000 e00000000
00000000

(3) 0000D0000000,»,00000002050000000000
00000200 50000000000000m/, 00000000
0000000n=2%%/ (00000000 20500000)00
O0c=max{a,b} 000010°=1 (mod n/) 00000000000
e00000m/m 00000000 (¢+1)000000000000 e
0000

(212) 0O (0D0O00OO0O0O0D0000) (1)0000 34567/125000 000
00 235 00000000000max{3,6}=60000006000000
0000000000000.276536 0000

(2)0000 11/21 0000000000 3.7020500000000
0000000000010°=1 (mod21) 0000000 ¢e0 600000
(00000000000001/21000000000e=6000000
00000)00000000600000000000000000.523809
0000

(3)0000 1237/1750 00000000000 2'537' 00000000
00000D00Omax{1,3} =300000000000400000000

00000000001/700000000000 60000000000
O0000000.706857142 0 0 0 O

(213) OO0 (0O0O0DOO0OO0OOOO0ODOOO0OOOOOO00)

(1) D00 5000000000 0UCODOO0OOOOO 100000

(2) 00000000 OOO0O0OUO 100000

(3 000 400000000000000000O0OOODOOODODOO1
ooogno

§3 UOOOOO

0001/7 =0.142857 0000 142857 0 1420 857 00000000
142 +857 =999 0 0 002/7 = 0.285714 00 000 2854 714 = 999 0 O
000003/17 = 0.1764705882352941 0 0 0 0 O 0 17647058 + 82352941 =

99999999 0 000000 O11/21 = 0.523809 0 0 05234809 = 1332 0 0 0
00000000000 00000000000000000

(31) 00 (D0D0D000O0O0O0O0O0O0O0O0099---9) 000 0 100
0000000000000 m/n000000000000000000
0 e00000000001042=—1 (medn) 00000000000 2
0000000000 e/2000000000000099---9(e/2000
0)oooo

Proof. 10Fm O n 0000000000 r00000m+n0000000

O k0000000000000 -00000DO00OO0O0DOODOO
10°7¢2m = —10Fm = —r =n—r (mod n)

O0O0010%¢2m 0 n 0000000 n—70000
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r0000n—r00000000O0CO0OOCOOOOCOOOO0O 10r0O
10(n—r)000010r0n000000 ¢OOOO0010r =ng+s (1 <s<n)
ooooood

10(n—7r)=10n—10r =10n —ng—s= (9 —g)n+ (n — )

oooo0lon—r) 0000000 9-¢0000000000OKODOOO
0Ok+e/200000000090000 O

(32) 0 (0DOODO) (1)2/7000,0000003000000 5
(=-2 (mod 7)) 0000000,000030000,999—285=14200
00o00.00,00000000,(0000000DO2000000)00
00300,2,6,4000,0003000000 -100,5=-2 (mod 7)
1=-6 (mod 7),3=-4 (mod 7) 000000,

0.2857142 ...

(2)11/21000,000000000 10 (= —11 (mod 21)) 00000
000000,00000000000000000000.

0.6238009 ...

[
[y

00,000 7000,1/7=0.142857, 2/7 = 0.285714, 3/7 = 0.428571 [
000,000000000000,0000 14285700000000000
0000000.000,00013000,1/13 =0.076923,2/13 = 0.153846
020000000000 (000300000200000000000
000,00000000000). 000,00027000, 1/27 = 0.037,

2/27 = 0.074, 4/27 = 0.148, 0000, (0000000) 00060000
000000.00000000000000000000000.

(33) 00 (D0DOD0OO0) O000D0000O0000 »nO0000,0
000 m/,00000000 ¢e000.0000,0000 m/n0000
0000000000, ¢(n)/e0000.000,¢(r)0000000000
0,0000000000,0000000000000000000000
0O000000000O0.

(34) 0 (000O0O0000) (1)0007000,0000000600
0,0000000000¢(7)=6000.000,0000000 6/6=1
oooo.

() 000 13000, 0000000 6000,0000000000
$(13)=12000.000,0000000 12/6=20000

gooo,odn 1/13:0.(.)76923DDDDDDDDDDDDDDDDD
oo0oo,000»0O000 m/1300000000000000. 1/13
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0000000 10000000000000 0.769230 O, 1/13 0 100
000000000, 10/13000. 0010000000000000

100/13 =749/13 00000, 9/13 = 0.692307 000. 0000000
oo,

1,
10,
10°=9 (mod 13),
10° =12 (mod 13),
10* =3 (mod 13),
10° =4 (mod 13)

000000,00000000000
000000000 2,5,6,7,8,110,00 1000000000.

§4 O

(41) 00 (0D0OOO0) 200000000000000000 RO O
0000000000 (R1)OO (R7))ODD00000O0O0DOO0

(Rl) 0000000000
(R2) 00DDOOOOOOO

(R3) 00D0DD0 000000 (a+0=0+a=a)

(R4 000000000 (a+(—a)=000 —aD000)
(R5) 00DD0O0O0OO0OO

(R6) 00000000000 100000 (a-1=1-a=aq)
(R7)

R7) DODOOOOODOO (a(b+c¢) =ab+ ac, (a+b)e=ac+ be)

oood

(R8) 00 DDOOOOODO

O000D0O0oO00o0DORO OO0ODOOOO
oboooooobooOrnxnOOD0OOD0OOO0OOoO000000000RO
gooobooooobooboooooooooon

(42) 0D (D0OOO0O0O) CDOOOUOOOOOOODODOOOUOOOOOOO
goboobooobool10o000O0DbOOOO0OOOOOOOOOODOOOObOOO
ooooboooo

(1) 00000000000 COD000000 ROODOODOOOOO QO
0000000 Z0DO0DO0OO000O0

(2) D0D0DO0O02Z001000000000000000000000
00000000000

(3) {a+bv2;ab000 } 000000

(4) mODOOOO ZODOO Z/(m)O (00DDO0DO0)00000

(43) 00 (0DDO0OOO0O0O0) OROOOOO

() «e ROODOUOOUOOOOOUe0OUOOOUOOOOO0OOeOOOOOO
ab=10000beROOODO

(2) 00000bLeROUDUU«=0000000 eae RO ROODOOD
gooboooboocobooooon

(3 00000000 DOO0O0OUOOOUOOOOn

(44) OO0 (UOUOOOQOOUOOOO) OROOOOOUOODOOOODOOOOO

(45) 0 (0OO0DOOOOO)

() 0ZOOOO 10 -1000000
(2) 0 z/3)000010200000000000%Z/(3)0000000
(3) 0 Z/(4)00000I030000000200000000

(4)

4) 20000000
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(46) OO (0) oOOOOUOOUOOUOOUCOOOUOOOOOOODOO
000000000 ROOOOODOOOO@E4A0ooooooooon

(47) 00 (z/(m)00D0D000000O0000) 200000 mO0
000z/(m)0000000000000000mO000000000000

(4.8)

(1) z/(18) 00000000000
(2) 0000000 D000000D00000000000000 (00)0

00 (zZ/(m)D00OOOODO)

(49) 00O (00) O0O0OO0Z/(p)000100000000000p00
0000 0000000000 m-1=0000000mO000000000
000000 ROOO0OO0100000000000000000000 00
0000000000000000000000000000

(410) OO (COOO0O) 0O ROODODUOODOOOUOD XOOOOOOO
oogd
1 n >0,
RX]|=<qa X"+ a1 X" "+ - +a1 X +ap;
ag,...,a, € R

O0D0O0OROD10000000000000f€RX]0000 degfD
ooo

0000zOO0OO0OO0OO0OO01000000X+1,X+42,..00000000
7/(2)0000001000000X0 X+1020000002000 4
0000000000000000X?24+X+10 X3+X+100000
goooooooong

0000000 ROOOfgeRX]00OOOg¢g0O00OOO0OO

(4.11)
(00D 1) 0000

O
f=aq9+r (¢, € R[X], degr < degg)

gbooobooog

(412) 0O (0O0D0OOO00O0O00) OROODOO feR[X]OOaeR
0oooo

(1) fO X—e¢OOODO0OOOf(e)00000
(2) fO X-a(ec R 0D0000000000D0D0000 f(o)=000
0oooooo

0 fle)=0000000 «0 fO0000O0O0ODOOO

(413) OO (DOQOOCOOUO0) OO ROODRROOUOOOOOOOOOOO
nO000000

(414) 0 (00O0O0O0D0DOO00O0O0O0O0O0O000) Z/(6)000000
0020000 X2-X0 X=0,1,34040000000

§5 ULUOOooOoOoD

(51) 00 O RODOOOOR[X]ODOOO feR(X|0OOD0DOO0OOOO
f00000000200000¢g,heRX]0000 f=¢gh000000
0000feRX|000000000000000000000

(52) OO0 0OO0OO0O0OOO0OODO fezZ[X)OUOODOOOUOOOUOUOOOOO
000 QX|0ooUoOoooooooo

(53) 00 fezZX)OOOD pOODOO0ODDOOOK=2%/(p)0O
ODD0000D0 feK[X)]ODOODODDOOOZX])O0OD f=¢h0000
K[X|]0DODOOf=ghOODDO

OD00f0000000 p0000000f0 K[X]OODOODOOOfO
oopoooo
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(54) 0 OOUOOOOUOOOOOOOOOOOOOOUOOOOOOO

(1) X2+ X +1
(2) X2+3X+5
(3)3X3 X2 -1
(4) X3 -X+1
(5) 4X3 —3X%2+2X —2

(55) OO0 (COOOOUDOOUOOUOOO) UOOOOODOOD f(X) =
X"+ a, 1 X" 1+-a; X +ao 000000 p000000 200000
ocooofOopDooOooon

(i) ao,a1,...,a,—1 0 pO OO0
(i) ap 0 p* 00000000

Proof. (53]000000000000000000O0OODOOOOfG3)]0
0000000000

()0 (i) 000000000000 fO00D0O0D0O0OOOOOf = gh
(degg=m,degh=n—-m,1<m<n)0000000 p00000 f=gh
O0000@G) 00000 f=X"00000000 X™X" ™ 00000
O00D000g=X™ h=X"""0000000 ¢h00000000 p
000000000 f00000 0000000000 ()000000
000000000 0000000 O

(56) 0 OOUOOOOUOOOOOOOOOOOOOOOUOOOOOOO

(1) 22 -2

(2) 2> =32 +3

(3) 2+ 622 — 4z + 18

(4) 23+ 322 +5x+5

(5) 00 pO00D0D0®,(z) = 2P + 2P~ 2+ ...
goooooa

+z+100000000

10

§6 0000

(61) 00 O0OOODOOOO

(1) 33x440 700000000000
(2) 33% 0700000000000

62) U0 »n00000000000O0OO0OOOOO

(

(1) 2273 327+l 0 500000000000000

(2) 3" +5"+7"040000000300000000000
(3) 3ntl45nt2 4 8nt3 0 3000 000000000000

(63) 00 O0OD0OODO0OOOOOOOOOOOO 20000000000
00000000
(1) 336,360  (2) 448,588

64) 00O 0OOUOOOOOOOUOOOOZz,yO 100000

(

(1) 392 + 28y =1
(2) 28z — 11y =1
(3) 39z — 11y = -3

(65) 00 0000 .00000000000 ¢(r)000D00
(2) 21 (3)512  (4) 840

(66) OO0 101000000000000099°0 1010000000

oood
(67) OO OOOOOOUODOOOOOO

(1) 30%0 =31
(2) 1830 +29
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(6.8) OO0 mnIO00O0O0O0OOODOOO

() DOm/n000000000000DO0O0OOOOO0O

(2) 00m/nO000000000000000O00O00O0OOOOOOOO
goooogao

(3 000000000 m/nO000000000OOO 400000000
goooog

(69) OO0 mnUIO000OO0O0O0OOODOOO

O00m/n0000000000000O00OOC0OOOO
ooboobooooobooon

¢(n)0000000

(5) 5/21000000000000

(6) 10/21 000000000000

(7) 00000000000000000000000000000000
002100000000000000000000000000000
000000

(6.10) OO0 OO0 ROODOUOOUOODOODOUOOOOODOOUDOOO
goboboooooooooooooooboooobooooooooooonog
oooooo

(6.11) OO0 ODOOODOOOOOODOUOOOOODOOODOODODOOODOO
gooooo

11

() DooooO (7) DOOO R

(2) 00000000 (8 OOOOOC

(3) DOOO (9) 0000000000 Z

(4 0000 (10) 00000000000 Q]

(5) OO0 Z (11) 0000000000 Rz

(6) 00000 Q (12) 00000000000 Clal

(612) OO0 OO0 mOOO0O0OmOODOO0O0O0O0O Z/(m)00000

0,1,...,m—-100000000000000 kD0OOOODOOODOOOD
obooooobooog

(6.13) 00 DOO0OD0DO0OO0OD0DO0OO0O0O00O0DO0000O0000
@)z (b)Z/(2) () 2/(3) (d)Z/6) (e)Z[«] (f)Q

(6.14)
og

(a) Z  (b) Z/(2)

00 OO00O0O000oO00o00oOooobOoboobooocooon

(©) Z2/3) () z/(6) (e) Z[z] (F)Q

(615 00 00000000

() 000000000

(2) D00 mODO000000 Z/(m) 0000000000000000
000

(3) 0000000000000
(a) Z  (b) Z/(2) (c) Z/(3)

(d) Z/(6) (e) z[z] (f) Q

(6.16) OO 000 Z/(11)D00000300000000
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(6.17) OO0 OOUOUOOOOOOUOUCOOOOOOOUOOOOOOOO
oooooono

(1) X2 +3X+1
(2) X2 +3X+3
(3) X2+3X+9
(4) X34+3X?4+6X +1
(5) X3+3X2 -1
(6) X*+3X3+3

§7 0OOOO

[EOoo00 (1)33-44=5-2=3 (mod 7). 00O 3.
(2) 333 =5% (mod7) 00005000000000000005% =1
(mod 7) 000003338 =53 =530 =53=125=6 (mod 7). 0O O 6.

@]DDD ) mod5000000022"3 —32n+1=8-4"-3-9" =
34" -3.4"=0 (mod 5) 000050000000

()33*3(mod4) 5 =1 (mod 4), 77 =3 (mod 4) 0000 mod4 000
00003 45" 4+7m=3"4+1+43"=2-3"+1 (mod4) D0O00nDO
00000000 2-3"=2 (mod4) 000033 +5" 47" =2+1=3
(mod 4000000003 +5"+7"04000000030000
(3)3ntl 4502 4 g3 0N2000030000500000000000
000030000000000000000000 2000000000 2
0000000000000000

00 mod30000000O3" 457 F248mH3 =n+24 903 = 9n(44-8) =0
(mod 3) 000030000000

000 mod50000000O3"H 4572487 +3 = 3n+l3nt3 = 3n(3427) =
0 (mod 5) 00005000000000000000000
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[E30oo (1)
360 +336=1000 24,
336+24=14000 0.
O00000000 24 0000000000 360 x 336 + 24 = 5040.
(2)
588 +448 =1 00 0 140,
448 +140=3 000 28,
140 +28 =5000 0.
O00000000 28 0000000000 588 x 448 + 28 = 9408.
EAHooo0 (1)
39+28=1000 11 00 11 =39 — 28, (a)
28+-11=2000 6 00 6=28—11-2, (b)
11+6=10005 00 5=11-6, (c)
6+-5=10001 00 1=6-5. (d)
OooooQ
1465
£6-(11-6)=6-2—11
L (28-11:2)-2-11=28-2-11-5
£928.2-(39-28)-5=28-7—39-5.
0000 (z,y) = (=5,7).
(2)
28+11=2000 6 00 6=28—11-2, (a)
11+6=10005 00 5=11-6, (b)

6=-5=10001

00 1=6-5. (c)



20120000000 2

oooooo
1=6-5
26-(11-6)=6-2—11
£(28-11:2)-2—-11=28-2—11-5.
0000 (z,y) = (2,5).

(3)

39+11=3000 6 00 6=239—11-3, (a)
11+6=10005 00 5=11-6, (b)
6+5=1000 1 00 1=6-5. (c)

oooooo

L6 (11-6)=6-2—11
£(39-11-3)-2-11=39-2—11-7.

000000 -300000(z,y) =(-6,-21)00000

G000 (1) ¢(11) =10

(2) ¢(21) = ¢(3)9(7) =2-6 =12

(3) #(512) = ¢(2%) = 2%(2 - 1) = 256

(4) ¢(840) = ¢(8)8(3)p(5)(7) =4-2-4-6 =192

(o000 0000000000999 =992000) =1 (mod 101).

EI000
Oooil.

(2)000000000018% =
5 (mod 29)

(1) 000D000000030% =302GY =1 (mod 31) OO

189029 =1 (mod 29) 0000183 =182 =
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8000 (1), (2)ZIO@)oooo(3) 1/80 (80 =2*-5)

(6000 (HEAEDLODOER EZMooDooE) ERIDEe oooo
(4)[EBo0000G)6(000000000)I(®)6 ((5)00000)0(7)
#(21)=12000012+2=2000

[I0JU0O0 000 (000000000000 -10000000000
O00ooOoooooo)d

[(GIQo0O00 (1)00000 (000000)0(2)00000 (00000
000)0(3) 00000 (100000)0(4) 00000 (000000)0(5)
00 (12)000000000

[(6IZJ0O0 [[IZjoooo

3000 000000 [@3j0000
(a)1,-1 MT (¢)T,2 () IT,5 (e)1,—-1 (HoOOOOD
(4000 0000000 @3)10000
()0 (b)0 ()0 (d)0,2,3,2 ()0 (£)0

EI5000 (1)[E3oooo
(2) E7J00000 (Z/(m)00000000Z/(m)0000000000
000)0

(3) (a), (b), (¢), (e), (f)

[EIsjo00
00 (z,y) =
00003-(-7)=1 (mod 11) 0000000 300000(3)"
0400000000)0

llz+3y=100000 (DOOOOOOOOOO)O0OO
(2,-7) 0000000 11-2-3-7=1000000 modl1
LT (T



20120000000 2

(7000 (B2]0000000000000000000000000
0000000000000000000000
0O00ZzZ/2)0000000000X?2+X+4+10 X3+X?+10000
0000000000000 1000000000000Xx=000000
D0X=1000000000000000X00 X+100000000
00000000000000000 (B3]000000000000
()00 (6)DD0D0D0DD00000(M) 00 ()00DD0E3I0000
p=200000000(2)0 (6)00ES0000p=300000000
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